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— BOTAR TRIY ORI TRIY KT PN
He creates defilements but he does not create illegitimates

Overview

The mwn in 'mn2 teaches us of a three way np1omn as to when an illicit
relationship begets a 71an. According to ¥"7 a 71n is one who is born (even)
from a PIRY °2»n relationship (such as a 372 to a nAwYMl); “1Na DWW
maintains only if he is born from a Mn°7> °21 relationship (such as NAX
NWX); and ywI7° "M limits 2777 to relationships which are 72 mnon "2»n
(such as 1aRk nwx). Their n.%nn depends on their interpretation of the
proximity of the following two 2°p109 to each other; namely nX WX fp> X2
192X 720 77730 X1 1R WK and 77 272 71n 82 K5,

The X773 in *1wnTp teaches us that NPva Poon PATP 1X. We derive this
from the 711 "7 Xw P for the P09 states’ 97 MAVINT D0 AWY WK 9D
1n751; this 2109 likens all the N1y to each other. By some N1y (notably nwX
2K and 7wWX MnX) the 770 uses the expression 1> X7 which indicates that X
7090 Pw1Tp; the wp i applies it to all >Ny, that 172 1090 1w17p PR

These two 0°1°7 (70910 717 1R and MAmn) are generally connected. If X
70910 PP, the child is a 7mn; and if the child is a 7mn, then PWYTR PR
70910, Our Md0N will discuss whether this connection is universal or not.

— "09IN ["WITP NN 1A K97 (13T XN N3 KRAT DN
This (answer of the &3, that 2% AW TR IWW X177 17219°7) indicates that
one (M7n) is dependent on the other (Pw17p no'dn); that since the
children of 1175 *110°K are not av7t» (but rather [only] 2°9%17), therefore we

know that w7 is effective by nnad 1ok, The same would apply to any other
type of 10> >MoX; if the child is not a 7, then WITP are Po9IN, even though it is a
forbidden relationship.

="J13 1IN 1I1m 3'|‘I.'|J'I'l|'.| 11 09N NY7T AN NN NN @00 91 ow) PIND P93 Dnwn [N

x,on.

2 X,20 [X¥n] 0127, According to *32°ni1 1wnw the 2109 of 1°aR 715 1773 KY is referring to 178 Hw 02> nw
which is YaR "X DX or his aunt (\N717), who is MN*3 21°02 1°HY 710K, See footnotes # 9, 11, and 12.

3a0.

S, [InR] K.

> There are exceptions such as a 77.

® Some N1y are 7" MM "N (such as 28 nwX) and some are NINI13 °21 (such as INWK NINX).

" The xm3 was discussing the status of 1"091n PW17P according to ¥"9 (who maintains °2°°172 10910 PYTR PR
1X%Y). The &7 stated that by 3"7197 719X even "1 would admit that 1090 1w17p. The X3 supports this by
citing >®»°0 " who claims that there is no 2"713% 712782 . How does this prove that 1w17p is 1°0910
3"779% MnR2?! We therefore must assume that if the child is not a 9man (as by 3"73% 717K), then w17 are
17090,

8 The 70 writes (X,30 [X¥n] 2727) 1Par NWR DR WX 17p° &9, The words P> XY teach us that 1020 PYTR PR.
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And this is indicated likewise in 2177 P95, where the X 13 states ‘just as
by the relationship with one’s father’s wife where 2172 is not 210 and
the child is a 9WT7:7:, etc. similarly in any case where there is no o910 PW1Tp the child

is a '’mn. This indicates that if the child is not a “mn then w17p would by oo, for if
1w17pP would not be 10910, then the child would be a 1an.

= "IN "2 7N w*T PYINna 5977 01N "Nl 821'pPo *a71]
[And this logic applies to ¥'"9 as well; since v"1 derives in y21177 P75 that
the offspring of IX? 2" is a Uarmm, therefore we know that ¥ -
= [1MINY "2™N2 031N WP 'RT INKRP
maintains that P17 are not XY 2»m2 POSIN. There is no statement
attributable to ¥ that 1IX? °2°°12 PO PWITR K. It is only known that ¥"1 maintains that
IR 9217 man wo. We infer from this that ¥"7 must also maintain that 10910 PRI PX
TIXY 22713; for if w1TP would be PIXY 22712 0910 the offspring would not be a 7. ]

In conclusion; m»doin cited three sources that 10910 PW17R X and MAtn are dependent on
each other. This brings NM201n to the following question:
(xon 77 ow) PN "N9"W3A 73773 NN 2NN 1M °RT 21 90 fXR DA 127197 anTm
And it is astounding! For according to 2y 's who maintains that
(even) an offspring of a nIN>I> 211 relationship is not a 9t» as he derives
it in the end of "y 17 P79 (according to ¥&™ " a ~mn is only from M *27n
7""2), nevertheless ywi7° " -
= (ow &0 97 11022 IR™INI (27 P13 70 1973 01013 2N (*0D10 WI1TP 'RT TN
admits" that PRITP are not NINSID 9212 PeIN, as the XX asks in the
end of A" P15 in N2’ noon -

= MN™3 "2"N2 *091N "IWI1TP 'RT ["UNIWNY 7I0R'N
‘Is it necessary to inform us that nwnsas 2%»m2 poown PP 1R?! The
question of the X713 indicates that it is a well established fact that >2»n2 10910 PYITR PR
mn2. However if "9 would maintain that mn®> 522 0910 7PW17R, then it would be
necessary to inform us that we maintain otherwise. This proves that >212 10910 7W17p TR
MmN is universally accepted.

? The 70 writes concerning a man in "N 7 9Ap2 Aman K20 R 3,30 [X¥n] 0°027. In a preceding R,33 P09, the
77N writes 1R NWR DR WX np° &2; we derive from the proximity of these two 0°p109, that the child born of a
relationship with 1aR nWX is a 7. We expand this rule to all cases of 170910 117 'K, that the offspring
are 0°A1man.

' This 2m°> is used by the 7" who maintains that 9man 7997 8w N2 %y X271 7291 2™y, since there is no
770910 VIR

" The 105, which precedes '3 qman 827 XY, states: 12K 32 7193 K21 12K NWR DX X 11p° ¥2. According to ¥
the phrase 12X 713 793 891 is referring to 128 nouR (his father had relations with her, but was not w7pn her).
By 1ax nour there is only a 3> (no n13) and nevertheless the 7710 states afterwards 71mn 82> 9. This proves
that there is a 7mn even X2 "2, See previous footnote # 9.

"2 ywi ' argues there, that 9man X2° XY is referencing only ¥aX NWX NX WX fip> X2 (which is punishable by
[ﬂ5’PO] 7"%2 nn°1) and not 1°aX 710 17173 &9. Therefore a T1nn is only 7"v2 mn» °2>°1 and not NP7 "2,

B We do not find explicitly that *"7 admits that N> "212 PO9IN PYITP PX; rather we infer this from the
various sources that N0 brings.
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mooin offers an additional proof that °"9 agrees that N1n>12 °2°°12 POOIN PYITP PX:
= MN"13 "2"'NN "0 80N 0113 DI 27197 MNKRP (ow 2.0 571 ow) PINNA P1od
And in 75177 P15 the X na states that according to >''1 an offspring from
s vavn s still a Mo (even if he is not a 71n); the reason is, as the X3 states -
= "W1TP N3 090N XIT 110N RIN N0 NI A1 A1 ANWDT Oun
because through this 79°v2 he made her into a 7397 (who is 713722 770K)
and the child into a 01»o. And we know that a woman does not become a
7337 unless she had relations with those men whose °217? are not /72 ’o5n -
= (ow1 2,03 77) 711NN NJMNTI
as is evident in *;77%n N2on. We must therefore conclude that by mn™> *2°n there
1s no 109N WP (even) according to °"7; which explains why (according to °"9) the child

of MN®> 2% is a DIAD.

mooIn brings another proof that *" agrees that NN 3212 POOIN PYITP TX:
= (ow1 2,70 77 mnav) PN N1 [1MANP]

And the X723 also states in Y257 P09, that -
— NN TINN INIW® N3 98 NID T M3 0TTIR 930
Everyone agrees that if a >n1> or an °1v1> 72¥ had relations with a Jewish
daughter the child is a 712%.'® The xm3 there asks -
— I"INY 2NN MmN 'R NKRT 21 90 [NT N0 I0NW 07N 930 [RD
Who is the o7 937 referring to? The X3 answers that it is referring to
s1monn Pynw, that even though he maintains that there is no =m» from
TIRD "2 (only from M1 °2>m), and 7231 °M1D are merely PR °2%1, nevertheless -
— ™13 7201 "M3 YIAR ['WITP 102 "0INT INT 270 YN I
That is only by 8% 521 where 1P@17p is 372 1°0930 (then the offspring is
not a 7tn), however by a 7av n13, etc.; that Pw7p is not 172 1°0910, then even
1N YR agrees that the child is a 7mn. This concludes the citation from the X713 there.
mooIn continues with his proof:
— MN™3 *2"Nn RN 'R TART 21 90 8T DIA® 27 0TI 9370 [ND R N9
But the X173 did not say that the 2>7 Y317 is referring to '’>"'1; that even
though he maintains nn93 923571 912R PN, nevertheless -
- "13 "WITP 172 "0INT MN™M3 2N 9N N
That is only by nin>a2 s2%°n where PR17P is 1950210, etc.; however by "M 72y
where 7017 are not 091N, therefore the child is a 7tmn. The X1 did not state that. Why
not?!
— 71N "1 K9 *370 19°981 MN0™3 203 0ZIN 1P 'R DIWIA® "1197 RNYN

' This makes her 7nm2% 70K, See *"wn there 757w 7.

'3 It seems that we derive this from a '71210 7290 @' from Nw.

' (This ruling is disputed; others maintain [and the 71297 is] that 7w> 7977.)

71t would have been a greater W17°1 to include "7 in the 2>7% 9577, For yw i '3 restricts 0>1man (even) more
than >0 Nynw. *" limits them to 7">2 M0 *211 only, and nevertheless he is 77 by na %y X271 7291 °Md
5xw° that the child is a 711, The 8773 would have stated it, if it were so.
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It is therefore evident that according to >''1 that even though P27TP PR
NI s2%m2 100N, (and) nevertheless the child is not a 2t -

- 7201 "M33 ATINT INY '8N NI I
And therefore the X723 could not have said that *"7 admits by a 72y >n>
that the child is a 717 since 1w17P 172 050 X7; for according to >3 the fact that >05n X7
TW17P 1s no reason that the child is a 71n, as is evidenced by a child of mn»13 *2»n, where
70910 PP X and the child is not a 7man.'

In conclusion: moo1n offered three proofs that °"7 maintains N1N373 212 POOIN TWITR PX.
There is a mwn which clearly states that according to °" there is no MmN "2nn A,
This is in direct contradiction to our X3 and others which indicate that wherever 71X
70910 717 the child is a mn.

MDOIN answers:
— NN RN3 N RTRATPU 2791 IRTNA [IUDW 2797 1Y W
And one can say; that certainly according to >1»°n7 @' and »''9 one is

dependent on the other (and the m » which indicate this, follow the opinion of
1N NwAw and ¥") -
— AR NWNKY AR1T NIAW 77 W3 TINMN WITP 73 '090 NI7T TN NIIT
That there cannot be anything where o210 P2Y7P 1R and the child is
=w> (not a 7mn); but rather it must be similar to a8 nwx; that where there
is no 1W17pP the child is a 7. This is only according to *1» 07 " and ¥ -
- MN™3 2N 1"'091N WP N7 21 90 R DI "2179 JIR
However according to 3''9, even though ninsa3 5212 15020 PRITR PN -
= (ow *x.no rwip) TNIND 102 (199713
as the X7 derives it in the end of *'1»x7 P19, nevertheless -
— (ow x.0n mma) PIINN 03 DWIA® 27 9773 T A2 MO 270N IR N0 0 N9
There is no 222 only from 7''52 n1no» 52%17 as "' derives it in the end of

?5171.'! PWD.ZZ This rule, that 10910 PwYTR PR and MR is 712 77 12N, is only according to
12’07 PYnw and ¥'"; however according to °", it is possible that it should be 7¥17pP X
10910 and nevertheless the 791 is not a aan.

'8 1t would seem that the *"1n at the conclusion of n1on should be inserted here. See footnote # 37.

1 mooin is referring to the P105 of 12K 713 723" X1 17AR NWR DR WK 1R° KY. *1°07 Nynw and v" actually
derive their respective views of n1aman from the words 2R 713 793 X921, The phrase 28 NWX? 717 XITW P is
referring to the idea that 28 WX 10910 WP X, and the child is a 7. Similarly, in all cases where 1R
10910 1PWITPR, the child should be a 71, Perhaps nivon uses it because the X3 used it in 2,77 Nn2°. See
footnote # 9. See ‘Thinking it over’ # 3.

21t would seem to be 2,70 (at the bottom of the Ty).

I The p109 says (1°, [*IX] X7p™) that 7pn X% T0IAR X 7wR). We derive from this that nIAR2 PO PWITP TR
nwR (for is says npn X2, no 1w17p). Then there is the 711 17 Xwp°11 based on the P105 (in V3, [*IKR] XIP™)
which states 7987 M12IN7 931 WY IWR 93 %3, in which the 7710 equates all the N1 (to each other and also)
to TwX MnK; that just as by 7wk mMnX there is no 10910 1PW17PR, similarly by all the (nn>3 *2>1) N1V there is
no 10910 7Pw7pR. See ‘Thinking it over’ # 2.

** See previous footnote # 12.

It would seem though, that the opposite is not true. If the child is a 7, then certainly 1w17p are not
170910 by his parents (except for (n°)?x2°% (n)ran). Based on this we can perhaps say that according to
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mooIn has an additional question:
— N179 911 (7139 MINYNA OZIN WP 'R DWIA® 279 {3 ONT AW 9aN
However there is a difficulty, for if this is so (that *"7 maintains that X
MmN %212 70910 PUITR, even though there 1s no MN°72 °27 11 Tan), then it
would turn out that according to >''9 there will be no °o21n 127 by an
3'"msb mambR (which is only a R 21n), according to X21 -
= "IN 8 72V "R 720N K9 RINNT NNT I3 o 3191 77007 KNP P791 INKRT
Who maintains in the first P95 of 770 noon that anything which the
‘merciful one’ says do not do, if it was done it is not effective. mson
continues to explain -
— Np* N9 NRIAMT IRKRPT 917 {139 MNINR M 2™ 119 @a 9o 0Nt
For there the X723 challenges X27; but we see that an 79X marrying a
A'"113, concerning which the 7710 states ‘he shall not take’ -
= "913 9171 {7139 MINYR 113 771D WM PWITP W mpn 93 pm
And nevertheless we learnt in a mwm»; ‘any situation, where there is
PR (that Poon Pwn7P) and there is a transgression in this relationship
(the mawn offers an example), for instance an 73»®X marrying a 3''713, etc.
(the 71wn continues with the applicable rules). It is evident from that 7awn that PP is
109N by an 1'% 719K, even though the 770 forbids it. This is contrary to what X237
taught that >3 R? 7°2¥ °X 7°2vN X2 X177 KT 93, and here we see that it is >3, the PwITP
are 1°091n!
- O™Mn AW 1R AWIN NI 79190 9907 89 1P KT ONA CIRW K17 79 10N I
And the X3 there answered; X239 will explain this to you. It is different
there by an 9173 7757 739K (than elsewhere), for the P95 states concerning
an 2"719% 79K that 991> 8%, which means that if he bears children with her
then, 2P K17 1P97%17, however 2 1% RY 19RY. Since the 770 clearly states
that the offspring from an 3"775% 719X is not a 71n, therefore we are forced to accept that
7090 PUITR; for if it would be 109N YR TR, then the child would certainly be a qmn,
and the 710 clearly says that the son of an 2"75% man%X is a 971 and not a 7mn. This

concludes the question and answer in the 77710 X713, Now m»doin concludes his question:
= 371 ™Y NI WAt 1N

However according to 5''% we cannot give this answer. Granted, that the 7n
states that the child is no 7mn; however that does not mean that PR is oo, It is
possible that by 2"73% 719X there is no Po9N PWITP and nevertheless the child is not a
q1an; just like M2 °2>1 according to °'", where it is 170910 PYYTR 7R and the child is not
a mn. The same should be by an 3"775% 739K that 1w17R should not be 10910 (since X1m

>12°n7 Nvnw (and ¥"1) who maintains that a a7 is NN 202 (or 1IX? *2»1) and we know that PwYTP 1R
mn2 °212 109N (from the 71 "7 Xwopi) then we can formulate this rule that wherever 1°0910 17R7P PR
then 71mn 7917. However according to *" even though he agrees to the 71 "7 X717, however since mn PR
7">2 Mk *2°°1n ROX, this obviously negates such a rule.

2 9 0 PwrTR.

5

TosfosInEnglish.com



12791 7"'7 '0In 2,05 NM2IN> .7"02

72vn X2 K) and the child need not be a aman! This question remains unanswered by
maoin.

mooIN poses a new question:

— IR NWKN3A "WITP *090 K97 NIWN I (0w 150 77) IR 102 WITPA IARN ONI
And if you will say; in P2Y7P ndon in the end of 2Samix 70, when the
Xaa realizes that 1217? are not 190210 with one’s father’s wife -

— 72U NN 7190039 R0 AR NWNA 177170 RN°R1 007 7719 '8N

What does the X713 ask there; ‘and let us say that both om0 are

concerning *’ax nwx; however one teaches us that initially one should not

marry an IX NWX and one 05 teaches us that even 7272’ the pwTp are not
0910, This concludes the question of the X3 there. Moo asks -

— W17 N2 09N XY RN AT 83T 937 A0 779 RY RN

Why cannot we derive from ax nwX, that whenever the child is a 9%,

there is no 1050 PP by the parents -
— 1IW"DTI RN N2 RAT (1M
since one (M7n) is dependent on the other ("0 WITP X)), as we

explained previously?! Once we know that 28 nwX2 70910 PYITR TR (from WX mp> X2
ar nwr nX) and we know that the child of an 28 nwX is a 711 (from the M> 1o of 1P R
PIAR NWR DR WK to an X2 XY), then we can derive that just as by an 2R nWX, where the
child is a 7mn, the rule is that 10910 7PWYTP TR, the same is by all N, since their children
are 0, there is no NP2 1IN TR, There is (seemingly) no need to look for other
(7217 "7 XWORT) MWAT to teach us that NPIY2 ODIN PUITR TX.

MDOIN answers:

— MIN™3 "2"N INW2 NN ['UNWw XY *N3axT 1019 w1

And one can say; that (at that point in the X712) we did not know as of yet
that the offspring of the remaining nyns9> 5297 are 25%» -

— A" "277 NW'PTA 0NN MU RITANn3 93

As long as the X713 there did not bring the wp>77 of **mav ' -
— "IN 9 02* NINIWI1 IR NWR *1"RT 792" K9 0P° RINT

> The X there is attempting to derive the source of the rule that 10910 PwITP PX by all the n1w. Initially
the X3 attempts to derive it from the (2,72 [R¥n] 2>127) P05 concerning a 7w which states W R? 7n°m
IR, meaning 0°21p% X1 RY, that by 0°217p (which is the equivalent of the n1y) there can be no n°m, no
1w17p noon. The X3 challenges this and asks perhaps we are excluding that 1°0910 w172 1R only with her
former husband’s son (to whom she is related as an 12X nwX). The X3 answers that we already know that
w72 72 °09N X7 PaR nwK from the YR NWR DR WX vk Xo i2109.

%% This refers to the P09 of "X MWK NX WX 1P 8 and the PI0D of X W KY N,

*" Therefore we cannot derive from these two 02109 that N1"IY12 109N PYATPR 1PX; only by IR nWK.

% Therefore, the X3 insists, we need a different T (which is 731 "7 Rw°p 1) to teach us that 7WI1TP PR
nPAya oon.

** This question is according to *1°n71 Pwnw and ¥"7 who agree that all mn>13 21 beget a™mn.from the
M2 D of 1aR 713 793 KD to 7N X2 XY, See preceding notes # 2 and 11.

% See ‘Overview’ and footnote # 21.
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Because from the 2°p109 of 1aR NWR NX WX 1Py X2 and M2y n1o 77980 XY
(from where we derive who begets a *'mn), which refer respectively to
1ar nwx and the 23> N of his father’ -

— ™NN3T 931 {NO0'NY 1NN W7 AWK MAKRA1 W' NWNI MNn AN (' N9
We would still not have known that there is m9» in the offspring of a
relationship with a married woman or with the wife’s sister, for by these
two, their prohibition can be removed (when the married woman is
widowed or divorced, and when the married sister dies) and all that are
similar to them™. In these cases we would not know that their children are **zmn

and therefore we cannot derive from 2R nWX that 172 10910 7YTR TX -
= 11I7"373 NNJD2 77'NY NI'N 0N A1 277 KRW'PrA NTAT 1027 AN

However at the conclusion when the X723 cites the /7319 '97 Xwopo7 there,
and we know that N1"7v2 10910 PYYTP X, then we can derive that elsewhere
by all nv (and other case where 70910 7W17P 1X) that the children are
o man (just as by a8 nwX and AR YW 020 naw), as we explained that px
7090 PYTR and MM are dependent on each other. Without the 711° 17 Xw P11 we would
not know that X"X and 7wX mnR beget o711, Therefore we cannot derive that Pw7P TR
172 109N, Once we have 711 "7 X1 and we know that n1Pv2 o910 Pw1TR 7R then we
also know that the children of all N ¥ (and others where w17 *05n RY) are 3pmmn.

— IR *ODN N9 MA™3 37027 1997 (8N 83T °mintn T paoa vnwn Ui’
And the same is indicated in nns» '7 P9p; that there is no one who argues with
the rule that nyns= sa»ma 7°05IN PPRNTP PN,

mooin offers an additional proof that N1N>12 °2%12 10DIN PYITP T'X:
- 39|'IS"JI'I|'I n ['NnMx NNmaT o'wi 1”m

And we can also prove this from the fifteen women who absolve their ‘fellow

wives’ from 57391, (The 77% of an MW is completely free from the obligation of (212 and)
X9, just as the My herself.*)

31 See ‘Overview’ and footnotes #'s 2,9, 11, and 12.

32 The 02° nmw of his father is his uncle’s (father’s brother’s) wife — his aunt; she is 770K to him as a 2™
mn 2. See footnote # 2.

3 This may be referring to X nwX which has a 212> D¥pn3a N7,

¥ We could argue that we cannot derive 121 WX NI °X MWK where there is a 70X 0% from 28 MWK or
AR Sw 02> nmw, which have no PI0°RY non.

* We can seemingly derive that the offspring of wx a1 X"X are o> man either directly through the Xw P>
731 "7, or from 2R NWR (as we derive other cases of 170910 PPw17R X that the children are o°777)

3% The following bracketed portion is from the 021> Mo (and continues into the 17172 *}n 77 >"1N).

" This *"1n would seem to be referencing the beginning of our NN, where MO proves that even
according to *"1 the rule is that nn>13 °2»n2 1ooIn PYITP 1X. The °™n is adding additional proofs. See
footnote # 18.

¥ (103) ®,21 7.

¥ %, nn.

40 72w 1287 are brothers, and 12187 marries s'11v»w daughter and another unrelated woman. If 12187 dies
childless, then 71v»w cannot be 021 his daughter, nor can he be 02 the other wife (the 77%). Both these
women are free to marry, without the process of 212> or 7¥°om.
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= "IN "2 M3 AX™IN7 1"I10 1°1 |3 ON MNO*13 "2 N3 "0010 "W1TP "N
And if P2YTR is NINvas Savoma poRn then they would be obligated to perform

el just as MR 92997, who must perform 77%°%7 to free themselves from the bond of 212,
= XN "I10 739N "WITP 102 03N "INRI 2N R1AN0N g 1P191 0N INNT3

As the X713 states there in the second p9p; it is reasonable to assume that by
IRY 92°°1 since PRTR is 372 oI, therefore they are obligated to perform
735 -

- 10 RP N9 RMYT2T 090 I0KRP RAT RDID Y9133 NN AUIND KT
And that 71w of 121 MIwvPd w1 1"V is according to everyone including Yy "
for the X7 nx states concerning this 7i1wn that it is not involved in any

arguments; everyone agrees to the rules of this 71wn. This proves that even according to >
there is no MN*12 %212 POOIN TWITR.

Summary
According to *12°n77 Pynw and ¥"9 wherever 109N PWTR PR then Aman 7917T;

however according to *"7 it is possible that 10910 Pw17P X and nevertheless
aTAn 1217 PR (as by mned va7n).

Thinking it over
1. Why is 70910 12172 X and m1tan dependent on each other; according to
the (first) X°wp and y17°n of moon?*

2. mpoIn (and the >"n) offered various proofs that >"7 maintains PP PX
mn > °212 Poon. Why did they not prove it from the 711 "7 Xw*p°n, which
teaches us that by all n¥ including NIN3I3 °20 it is 70910 PWITP PX; as
Mo0IN mentions in the ‘r‘1‘1’n?!44

3. According to °12°ni YA what relevance is there to the rule that 7217p 7R
709N and N are dependent on each other?® Where can we apply this
rule?!

495 nim,

2 X,0 oW concerning the 71wn of 121 w1 "v.

3 See x°p NIX 70,

* See footnote # 21.

S We seemingly know that 1°091n 1W17R 1R by M1 "2 from 711° "7 X P and that NN "20n N v
from 172K 715 773 X2, Why is there any need for this ‘rule’?! See footnote # 19.
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